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1) To read between the lines’ means -

v 1)
To read carefully to find out any hidden meaning

2)
To read quick to save time

3)
To read only some lines

4)
To read carefully

M4 : The phrase mentioned in the question “Read between the lines” is an
idiom, which means Perceive or detect a hidden meaning, in something said
or written; to try to understand what is meant by something that is not
written explicitly or openly. ... Reading between the lines, | don't think she
wanted to go in the first place".
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21) The minister told his official to a press conference.

1)
announce

v 2)
arrange

3)
prepare

4)
speak

II0T -

The minister told his official to arrange a press conference. (331 O THPONP
UPT FRIM AT ACATS PACO I 1)

22) A State where all religions are respected -

1)
Good state

v 2)
Secular

3)
Holy country

4)
Reactor
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A State where all religions are respected - Secular.

23) A remedy for all diseases -

1)
all cure

2)
panorama

3)
polyglot

v 4)
panacea
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A remedy for all diseases - Panacea (SREISTARINP \354)
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25) A sentence is a group of words that expresses a complete
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predicate

3)
Fragment
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thought
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A sentence is a group of words that expresses a complete thought. (I3 T
PO XTI ST AT @1 fAHE TATSK 2P A 1)

26) "Brain Child" means -
1)

special child

2)
intelligent person

v 3)
a person's idea

4)
autistic child

T -
"Brain Child" means - a person's idea

"Brain child" is an idiomatic expression that refers to an idea, invention, or
project that has been conceived or developed by an individual or group of
individuals. The term "brain child" implies that the idea or project is the result
of careful thought and planning, and is often used to describe something that
is innovative, creative, or groundbreaking.

27) He was brought to the police station for

v 1)
judgement



2)
guestioning

3)
confinement

4)
punishment
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He was brought to the police station for judgement. (RETER S BIP AR ATAT
AR 1)
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1)
Birds shout at dawn.

2)
Birds cry at dawn.

3)
Birds sing at dawn.

v 4)
Birds twitter at dawn.

II0T -

ste1ceT #TRKT Ribafiba o | 3@ oo - Birds twitter at dawn.

29) What does CV stand for?

1)
Curriculam Vitae

2)
Curriculum Vitea

v 3)
Curriculum Vitae

4)



Current Value

AT &
CV stand for - Curriculum Vitae (@?lﬂq_lfm )

CV stands for "curriculum vitae," which is a Latin term that translates to
"course of life." In modern usage, a CV refers to a detailed document that
outlines an individual's educational background, work experience, skills, and
other qualifications. A CV is typically used when applying for academic
positions, research opportunities, or professional positions in fields such as
medicine, law, or engineering. It is usually more detailed and comprehensive
than a typical resume, and can be several pages in length.

30) Man did not know that the earth moves round the sun until it was

1)
demonstrated

v 2)
discovered

3)
experimented

4)
invented

I &

Man did not know that the earth moves round the sun until it was discovered.

(ANMRFIRR 2 TJT S0 d1 @ A 531 FRME@ QMK 1)

31) Which of the Following is in plural form?

1)
analysis
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media
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datum
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radius
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* Singular — Plural

* analysis — analyses

* media — media

e datum — data

* radius — radii / radiuses

32) What is the meaning of the word 'Vice Versa'?

1)
For example

2)
Face to face

3)
Namely

v 4)
The terms being exchanged

T -

Vice Versa (©2°d1%) - The terms being exchanged.

33) A Lot of news in those papers unreliable.
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is

2)
were

3)
being
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'News' =T Singular Noun. 1R 586 16T A - 'A Lot of news in those papers is
unreliable.'

34) 'Syntax' means -

1)
Supplementary text

2)
Synchronizing act

3)
Manner of speech

v 4)
Sentence building

I &

'Syntax' means - Sentence building (135 5154)

35) Can you tell me where

1)
lives Rahim

2)
does Rahim live

v 3)
Rahim lives

4)
Rahim does live
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36) A stage of short sightedness

v 1)
Myopia

2)
Autopsy

3)
Maternity

4)
Abortion

0T -
A stage of short sightedness - Myopia.

Myopia, also known as nearsightedness, is a common vision condition in
which a person can see objects nearby clearly, but objects farther away
appear blurry. This occurs when the shape of the eye causes light to focus in
front of the retina instead of on the retina, which is the part of the eye that
senses light and sends signals to the brain. Myopia can be caused by a
variety of factors, including genetics, environmental factors such as reading
or using digital devices for extended periods of time, and certain medical
conditions. It can often be corrected with eyeglasses, contact lenses, or
refractive surgery. If left uncorrected, myopia can lead to eye strain,
headaches, and difficulty performing tasks such as driving or reading.

37) | need to install an fan in the kitchen.
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| need to install an exhaust fan in the kitchen. (THR ARG Q30 AP o
TISTICAT LB 1)

38) The Word 'Decade' Means -

1)
rotten objects

2)
decaying old age

3)
a group of ten people

v 4)
a period of ten years

T
Decade: a period of ten years (9F 7T1)

The word 'decade’ refers to a period of ten years. It is derived from the
Greek word "deka," which means "ten." A decade can refer to any period of
ten years, and is often used to describe historical, cultural, or social events
that occurred during a specific ten-year period. For example, the 1920s are
often referred to as the "Roaring Twenties," and the 1960s are known for the
social and political changes that took place during that decade. In addition,
the term "decade" is commonly used in business and finance to refer to
periods of time in which certain financial goals or targets are set and
tracked.

39) To everyone's surprise he got the examination.
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over
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passed

IIT -

To everyone's surprise he got through the examination. (FRIXF T_1P IR T 1
Sripiviapteiey)

40) 'Oncology' relates to

1)
law

v 2)
medicine

3)
ecology

4)
environment

T -
Oncology (the study of cancer) - is related to medicine.

Oncology is a branch of medicine that deals with the prevention, diagnosis,
and treatment of cancer. Oncologists are medical professionals who
specialize in the study and treatment of cancer, and they work closely with
other healthcare providers, such as surgeons, radiation therapists, and
nurses, to provide comprehensive care to cancer patients. Oncology
encompasses a wide range of medical disciplines, including medical
oncology, surgical oncology, and radiation oncology, as well as sub-
specialties such as pediatric oncology and gynecologic oncology. The field of
oncology is constantly evolving as new discoveries are made in cancer
research and new treatments become available.
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